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A car accelerates from rest at a constant rate « for some time after which it decelerates at a
constant rate 5 to come to rest. If the total time elapsed is t seconds, the total distance
travelled is :
Options :
2 B 2
e + B
8643517021, (@ T B)
B
ap .2

2(c + B)
8643517022.

da B
(e + B)

t2

8643517023.

o B
4 (e + B)

t2

8643517024.

Question Number : 1 Question Id : 8643512341 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
aF0 NG 7 o8 (AT o FAFA0 T BF F(A S #[@ p AITWA 507 @2 TE39a 9| 7a
Options :

2aB p

8643517021, (@ T B)

o B ¢2

2(a + B)
8643517022.

4ap
(e + B)

2

t
8643517023.

o B
4 (e + B)

1:2

8643517024.

Question Number : 2 Question Id : 8643512342 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

A modern grand - prix racing car of mass m is travelling on a flat track in a circular arc of

radius R with a speed v. If the coefficient of static friction between the tyres and the track is

1L, then the magnitude of negative lift F; acting downwards on the car is : (Assume forces on

the four tyres are identical and g= acceleration due to gravity)

[

Options :

8643517025. -

m| g =
8643517026. Hs

I:'z
m { 8 W
8643517027, 'S J

i
m| g + R 1
L
8643517028. \ b4

Question Number : 2 Question Id : 8643512342 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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i

Options :

m[
8643517025. )

Ii'z W
¥ p-‘-s R

m[t
8643517026.

]
m { g ET_ W
8643517027. . /
(i) 2
m ET_ | R
L
8643517028. \ e

Question Number : 3 Question Id : 8643512343 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A Carnot’s engine working between 400 K and 800 K has a work output of 1200 | per cycle.
The amount of heat energy supplied to the engine from the source in each cycle is :

Options :

8643517029. Sl

8643517030, 1600 ]
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lj
8643517031. 5200 ]

8643517032. 1500 ]

Question Number : 3 Question Id : 8643512343 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@5 A O -3fg= 400 K «@2 800 K S #1403 Fae 98 5 2 1200 | F1% F0a | 5 4fe
34T T 23T ovE WeR #AfEe

Options :

ot

8643517029, 220V J

8643517030, 1600 ]

-
8643517031. 5200 ]

8643517032. 1300 ]

Question Number : 4 Question Id : 8643512344 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A solenoid of 1000 turns per metre has a core with relative permeability 500. Insulated
windings of the solenoid carry an electric current of 5 A. The magnetic flux density produced

by the solenoid is : (permeability of free space =47 x10~7 H/m)

Options :
i

8643517033, 10 "7 T

3.
8643517034, 2 ¥ 107w T

top

8643517035,
8643517036,

Question Number : 4 Question Id : 8643512344 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

4fs fI6Ta 1000 “TFa <% FEFT (ToaFR TR’ TR WS G o 5001 «fba T
T WA AAEAA 5 A | €% FYHANS B (BTEF FTH TICET T
(% T4 (BFF (@@ =47 x 1077 H/m)

Options :
i
8643517033, 10 "7 T
3_

8643517034, 27107 7w T

ik
8643517035,

a T
8643517036,

Question Number : 5 Question Id : 8643512345 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A current of 10 A exists in a wire of crosssectional area of 5 mm? with a drift velocity of
21073 ms~ L. The number of free electrons in each cubic meter of the wire is

Options :

6
8643517037, 2% 10

23
8643517038, 1 <10

3 25
8643517039, 025 %10

25
8643517040, 2% 10

Question Number : 5 Question Id : 8643512345 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

5 mm? SFRTE CFawE R a3 o wnaa fown eaE 10 A 7 AHE = fws-afera
2x10-3 ms~1| @3 ©rAq AfE WHAGTA TTAFGHLA AL 1

Options :
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2]
8643517037, 2% 10

23
8643517038, 1 <10

: 25
8643517039, 029 %10

25
8643517040, 2< 10

Question Number : 6 Question Id : 8643512346 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A mass M hangs on a massless rod of length [ which rotates at a constant angular frequency.
The mass M moves with steady speed in a circular path of constant radius. Assume that the
system is in steady circular motion with constant angular velocity w. The angular momentum
of M about point A is L , which lies in the positive z direction and the angular momentum of
M about point B is L;. The correct statement for this system is :

Options :

L, and Ly are both constant in magnitude and direction
8643517041.

8643517042. L, is constant, both in magnitude and direction

8643517043. LB is constant, both in magnitude and direction

Ly is constant in direction with varying magnitude
8643517044. :
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Question Number : 6 Question Id : 8643512346 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
| Chra @S Th 2TW W AL G T M WS SR ora e ©ea «Iis 38 #ite 8 F99 ary
e F1I% Tors (o) T0E! T M «3 A TG A0S @N19F 3039 L, T3 7 199 2 o7% 3999
932 B fam@ e M @@ (F9 Saw3sl Ly 2 ord ofeiae @« a@as 7S ?

Y £

Options :

¢ L, 720a9s 9 @ i
8643517041, A 9% Lp 122 i a5

g T+ & i
8643517042, A fres &2

q I+ 8 i
3643517043, B fie e

L, ¥ 7 e o st “Afaadereii=

8643517044

Question Number : 7 Question Id : 8643512347 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An AC current is given by [=1, sinwt+ I, coswt. A hot wire ammeter will give a reading :
Options :

L+ 1
8643517045, V2
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8643517046.

[

8643517047. \)

8643517048. \I

Question Number : 7 Question Id : 8643512347 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
93 @7, (4fE=a@) 2@z 72w 1 =1, sinwt + I, coswt | s TICEd m@ﬂfﬁwﬁﬁ'ﬂ FCIET
e | P AT [ IO 7

Options :

8643517045. V2

8643517046. b

8643517047.

8643517048.

Question Number : 8 Question Id : 8643512348 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A polyatomic ideal gas has 24 vibrational modes. What is the value of v 7

Options :
8643517049, 10-3

8643517050, 130
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8643517051, 1-03

8643517052, 1-37

Question Number : 8 Question Id : 8643512348 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

GFG TZHATS ST 24% F=o0a 439 (Tare) A= T ¥ 23 ?
Options :

8643517049, 10-3

8643517050, 130

8643517051, 1-03

8643517052, 1-37

Question Number : 9 Question Id : 8643512349 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
When two soap bubbles of radii a and b (b > a) coalesce, the radius of curvature of common
surface is :

Options :
ab

b—-a

8643517053.

ab
a+b

8643517054.

.h a
ab

8643517055.

.alb
ab

8643517056.
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Question Number : 9 Question Id : 8643512349 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
a ¢ b AP (b > a) G5 A TW GF TS T4 T4 SCAF IS ANHT T4 :
Options :

ab
b—a

8643517053.

8643517054.

8643517055.

8643517056.

Question Number : 10 Question Id : 8643512350 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A triangular plate is shown. A force F = 4 i “’r;r is applied at point P. The torque at point

P with respect to point ‘O’ and ‘Q’ are :

Ya

> X
0
le——-10 cm;ﬂQ
Options :
2 2
8643517057 — 15 — 2033, 15 — 203
8643517058, 15 + 2043, 15 — 2043

11/89



3/17/2021

3643517059, 15 — 2043, 15 + 2043

8643517060, —13 + 2053, 15 + 2043

Question Number : 10 Question Id : 8643512350 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fora «=fb farme e oren Zare P s @ 9 F = 44 - 3 etme F4 = O @@ Q'

Ty AeTE P e Hda I

YA

> X
)
‘ H—‘l[}cm—:{Q
Options :
2
8643517057, — 19 — 2073, 15— 2043
8643517058, 15 + 2033, 15— 203

3643517059, 15 — 2043, 15 + 2043

8643517060, — 15 + 2033, 15 + 2043

Question Number : 11 Question Id : 8643512351 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two identical metal wires of thermal conductivities K, and K, respectively are connected in

series. The effective thermal conductivity of the combination is :

Options :

12/89
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Ki + Ks
8643517061,
2K, K»
K; + K,
8643517062.
Ki + Kp
=
8643517063, 1 K2
K, + K,
K1 Ko
8643517064,

Question Number : 11 Question Id : 8643512351 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
K, @2 K, 9#f “faaiem {fg o i omce i e 1 991 29| @3 SRIEE S g6 Ol
“[faaTEreTEd T

Options :
Kq Ko
K1 + Ko
8643517061.
K4 Ks
Ky + Ky
8643517062.
Ky + Ko
e
8643517063, 1 K2
Ky + Ko
K. K
8643517064 s

Question Number : 12 Question Id : 8643512352 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A boy is rolling a 0.5 kg ball on the frictionless floor with the speed of 20 ms I The ball gels

deflected by an obstacle on the way. After deflection it moves with 5% of its initial kinetic

energy. What is the speed of the ball now ?
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Options :
8643517065, 1:00 ms™ !

rr 1
8643517066, +-+/ ms

1
8643517067, 1441 ms

1
8643517068, 19-0 ms

Question Number : 12 Question Id : 8643512352 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@Ffh IEF (.5 kg ST GFH IA0E GF5 W99 TE 20 ms | TS (S GOLAN| TAD GF5 FES WS
F(a Agre 79 «@L Al sifeefea 5% i@ g 5a0e ang | OEE O J9a Bhed T+ 204 ¢
Options :
8643517065, 1.00 ms

1

r 1
8643517066, +-+/ MS

1
8643517067, 1441 ms

1
8643517068, 19-0 ms

Question Number : 13 Question Id : 8643512353 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The thickness at the centre of a plarm convex lens is 3 mm and the diameter is 6 cm. I the

speed of light in the material of the lens is 2} 108 ms ~1. The focal length of the lens is

Options :

8643517069, U €M

8643517070, 15 cm

8643517071, 1 cm
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8643517072, 0-30 cm

Question Number : 13 Question Id : 8643512353 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Tl FCATES (plano convex) CFCHA (FEECET (94 3 mm 92 &3 TH 6 cm| IW €% FHA
THATAIC SCea SISCast 2 x 108 ms~ ! 27 O3 9% (FMATGA CFIPT 798 4

Options :

8643517069, “U €M

8643517070, 15 cm

8643517071, 12 €M

8643517072, 0-30 cm

Question Number : 14 Question Id : 8643512354 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which level of the single ionized carbon has the same energy as the ground state energy of
hydrogen atom 7
Options :
8643517073, 1

8643517074, &

8643517075, ©

8643517076. 8

Question Number : 14 Question Id : 8643512354 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
OB TF-STS FHA AN (@ FLAD *(F TGS NG T BLAQ *fFq 7T 7

o

Options :
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8643517073.

8643517074.

8643517075, ©

8643517076.

Question Number : 15 Question Id : 8643512355 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two ideal polyatomic gases at temperatures T; and T, are mixed so that there is no loss of
energy. If F; and F5, m; and m,, n; and n, be the degrees of freedom, masses, number of
molecules of the first and second gas respectively, the temperature of mixture of these two

gases is:
Options :
.I'I lFl Tl { I'IzeTz
8643517077. M1t
. 1 lFlTl { I'IEFETE
8643517078, 3 Hig s
.I'I lFl Tl { I'IzeTz
n lFl { I'Ize
8643517079.
. n 1T1 { I'Isz
I'Il { I'Iz
8643517080.

Question Number : 15 Question Id : 8643512355 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T, 932 T, O™ G5 T2 ATNGF S STPS o A G 231 IS (PR *Mea Sof53] 71 2 |
M STF WA TOF AL, ©F G2 W4 AN HeA IAEFH F, 8 Fp, m; '8 m, ¢3¢ n, 8 n, 2
w4 fIfEe st SreEEE 9

Options :
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. 1 lFl Tl { I'IzeTz

8643517077. By F
. n lFlTl { I'izeTz
8643517078. F+hK

anlTl { I'IzeTz
I'IIF]_ { I'IEFZ

8643517079.

anl { I'Isz

|
8643517080, 1 M2

Question Number : 16 Question Id : 8643512356 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For what value of displacement the kinetic energy and potential energy of a simple harmonic
oscillation become equal ?

Options :
8643517081, X~ T4
8643517082, ¥ =0
& p— + ‘%
it
8643517083. V2
r"'L
b
—
8643517084 =

Question Number : 16 Question Id : 8643512356 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FT A T GG WA MR (S sifeeE @ s wfea wm s 5@ 2
Options :
8643517081, *

8643517082, ¥ =0

17/89



3/17/2021

. + ‘%
B
8643517083. s
.I'-‘h.l.
_'}L" = 2T
2

8643517084.

Question Number : 17 Question Id : 8643512357 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The output of the given combination gates represents :

A

B

Options :
8643517085, AND Gate

8643517086, [VOR Gate

8643517087, VAND Gate

8643517088, “OR Gate

Question Number : 17 Question Id : 8643512357 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

foa afefe Aifes adaa wam s 24 :
A
Y
B
Options :

8643517085, AND Gate

18/89
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8643517086, VOR Gate

8643517087, NVAND Gate

8643517088, NOR Gate

Question Number : 18 Question Id : 8643512358 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An electron of mass m and a photon have same energy E. The ratio of wavelength of electron
to that of photon is : (c being the velocity of light)

Options :
[ E w|?-'g
-
8643517089, 1/
»
- 2 [ £ 2
8643517090, © 2ME)

8643517091, ©

1 ( B “~|‘-’2
8643517092, € \2m)

Question Number : 18 Question Id : 8643512358 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
m A GFH ARG 8 GF 0 (FOCTA *F E A1 93 SAFHLNA @ (FIO0Ta SARACH TS
(c 209z =GR siferast)

[ E \Va
L 2m ,J

¢ (2mE ]'1'3.

Options :

8643517089.

8643517090.
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8643517091.

LE e

8643517092. 2m )

Question Number : 19 Question Id : 8643512359 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The vernier scale used for measurement has a positive zero error of 0.2 mm. If while taking
a measurement it was noted that ‘0" on the vernier scale lies between 8.5 cm and 8.6 cm,

vernier coincidence is 6, then the correct value of measurement is cm.

(least count=0.01 cm)
Options :

8643517093, 5:28 cm

8643517094, 526 cm

8643517095, 5-0% cm

8643517096, 5-36 cm

Question Number : 19 Question Id : 8643512359 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T AT & A ST TETE $E 0 F 6 0.2 mm | GF6 (7 Tere e s
FTEA (0 WG 8.5 G @32 8.6 G 1 (TSCA ANF €32 SRR 6 W9lG & FTAq GFH WLoR

AL @A AGF el TS 7 (SEeAF=0.01 cm)
Options :

8643517093, 5-08 cm

8643517094, 526 cm
8.54 cm

8643517095.
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8643517096.

Question Number : 20 Question Id : 8643512360 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

8.36 cm

If an electron is moving in the nt!" orbit of the hydrogen atom, then its velocity (v,,) for the nth

orbit is given as:

Options :
U
8643517097. ™
0,
8643517098. "
Up *
8643517099.
U &
8643517100.

Question Number : 20 Question Id : 8643512360 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

GG TGS AT ST FCH (T AFG G| I3 FOF AAIHLAE STOCAR (v,) T -

Options :
U
8643517097. ™
1
8643517098. "
Un X
8643517099.
U &
8643517100.

n

n

Physics Section B
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Section Id : 864351158
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351158
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 8643512361 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

" " 3 - " " &
For VHF signal broadcasting, ___ _ km* of maximum service area will be covered by

an antenna tower of height 30 m, if the receiving antenna is placed at ground. Let radius of
the earth be 6400 km. (Round off to the Nearest Integer) (Take 7 as 3.14)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 8643512361 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

@B VHF 72Ib@ (FHa S5 GIcaa Twel 30 m| AW 412s Se-1 $i WeAd = o

@ AT @3 ALFS 470 TN I A (HFAFA _km?2| #feF7 A 4@ e TS

6400 km | (473 W& « @ I 3.14) (Fr@bea «fFemm)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643512362 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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If25x10 "N average force is exerted by a light wave on a non - reflecting surface of 30 cm?
area during 40 minutes of time span, the energy flux of light just before it falls on the surface
is W/ecm?. (Round off to the Nearest Integer)

(Assume complete absorption and normal incidence conditions are there)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643512362 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

30 A2 iz A2l b Ora 40 i+ 4T e @Fe 29 @2 6% Oa HIERT FoF 2Wa 516 I

T 25x 10O N €3 wra urifes seam 4 Yore wread (@ Faa T W/ em?|
(Frabe #jefme4mma)

(4za 8 #pef (oA T0R @A FHOIA SICER A Soifos 30R)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643512363 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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4

Four identical rectangular plates with length, =2 cm and breadth, b= — cm are arranged

k3 |

stidatny . _ e :
as shown in figure. The equivalent capacitance between A and C is Tﬂ The value of x is

. (Round off to the Nearest Integer)

d d d

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643512363 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Wi=zmﬁmaﬂb=§ﬁﬁﬁﬁﬁvﬁwmﬂmmgmecmm
ﬁ?ﬂ'ﬂﬂ?ﬁﬁxlﬂﬂw___ | (ST <y )
A B C D
-'(—)rli—h-‘(—}-l
d d d

Response Type : Numeric
Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 24 Question Id : 8643512364 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The equivalent resistance of series combination of two resistors is‘s". When they are connected
in parallel, the equivalent resistance is ‘p’. If s=np, then the minimum value for n is

(Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643512364 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

7% @40 A AHAE T FE T (AW W s’ @q2 STHA FAEAE TAE IF F0A (@) = p’ | M
S=Np B SE@A NI TSI AW __ | (e gffﬂﬂ;]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643512365 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A parallel plate capacitor whose capacitance C is 14 pF is charged by a battery to a potential
difference V=12 V between its plates. The charging battery is now disconnected and a
porcelin plate with k=7 is inserted between the plates, then the plate would oscillate back

and forth between the plates with a constant mechanical energy of pl.

(Assume no friction)

Response Type : Numeric
Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 25 Question Id : 8643512365 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

@35 14 pF qr4CEa TG =TS 419@ C (F GFo Aoiad V=12 V 720y e Fq 2| «@1d
AGITA fAives 08 @Fh k=7 #afage #93 A8 (AT “TeF qaraa Areqiba T Fiacd (el
A | 63 el @ I e 7 o T wrwee s@ed T« pll

(=1 THe (1% 40a Na)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643512366 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The radius in kilometer to which the present radius of earth (R =6400 km) to be compressed
so that the escape velocity is increased 10 times is
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 26 Question Id : 8643512366 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

T #ff43@ TN (R =6400 km) &5 STA ALFHS F41 IT@ @ G (WF AT @A T TG
A 10 39 WEa S2a a9+ APdE T ~ km|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :
100

Question Number : 27 Question Id : 8643512367 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The angular spr_-r_-d of truck wheel is increased from 900 rpm to 2460 rpm in 26 seconds. The

number of revolutions by the truck engine during this time is
(Assuming the acceleration to be uniform).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643512367 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

G935 =Afa s (@fF T© 26 GILF0e 900 rpm (AT 2460 rpm @ AfFafds 2| @3 F4F =a
e FoafE s e FrarE 2

(& T F@= )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643512368 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Consider two identical springs each of spring constant k and negligible mass compared to

the mass M as shown. Fig. 1 shows one of them and Fig. 2 shows their series combination.
.

The ratios of time period of oscillation of the two SHM is TEX{F = \-f'; , Where value of x is

Fy d

(Round off to the Nearest Integer)

L L Eae

00000
00000

Fig 1

Fig 2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643512368 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

28/89



3/17/2021

foarpica k Feie Fas a8 ot Fee taew 2t I S M @7 gerad Srerman | SUt G e
932 #fra e S7rareE it Fefe #eie 2w I dem owE JaEE T, 932 Ben o e T,

W@ bl = Jx = x-@ W | (ST o )

A
4 d

S TSIV LI T

00000
00000

Fig 1

Fig 2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643512369 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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The following bodies,
(1) aring
(2) adisc
(3) asolid cylinder

)
(4) asolid sphere,
of same mass ‘'m’ and radius ‘R’ are allowed to roll down without slipping simultaneously

from the top of the inclined plane. The body which will reach first at the bottom of the
inclined plane is

[Mark the body as per their respective numbering given in the question]

b i

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643512369 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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forag Toos FamEe

(1) <=5 9=
(2) <= vae
(3) <= FEn @&

(4) @G s coEe
SITSCH #TB0R | AW ATENSa ©4 ‘m’ «@¢ A ‘R’ 20 3 G2 THed 413 (ATF (2T (7 2 54
o o o “Iera @ THad TWH AW TN = FE G 2 A |

(e a8 =rs ows w9a W @ 29)

B '

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643512370 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Two blocks (m=0.5 kg and M=4.5 kg) are arranged on a horizontal frictionless table as

shown in figure. The coefficient of static friction between the two blocks is —. Then the

i/

maximum horizontal force that can be applied on the Iarger block so that the blocks move

together is N. (Round off to the Nearest Integer) [Take g as 9.8 ms 2]
m
F
M —

L . R

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643512370 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

foa@rpca 46 @ (m=05 kg €@2 M =45 kg) (3 @35 Shia T GRrea Som a1 =

: 3
AT T4 370 el woT® — | TT FFOF (A AT T9 ATATH JF b GF AL FACS AFCA TG T+
£

NI (S ¢ ) [g 9 T4 9.8 ms 2

]
M F—F

P

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Chemistry Section A
Section Id : 864351159
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351159
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 8643512371 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A central atom in a molecule has two lone pairs of electrons and forms three single bonds.

The shape of this molecule is :
Options :

planar triangular
8643517111.

8643517112, 1 -shaped

8643517113, SceSaw

8643517114, Tigonal pyramidal

Question Number : 31 Question Id : 8643512371 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

GG S (PP ARACS G2 TG 12775 SERG (TG TR G2 ORI foafh @ 5 51 =7
iﬂi[ﬁ?ﬁ I -

Options :

8643517111, N A

8643517112, -39

8643517113, 17
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8643517114, T oA

Question Number : 32 Question Id : 8643512372 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A colloidal system consisting of a gas dispersed in a solid is called a/an :
Options :

8643517115, aerosol

8643517116, Sclidsol

8643517117, 1oam

8643517118, 8¢

Question Number : 32 Question Id : 8643512372 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
o e @3 Mo e =e @ e e 27 wE e
Options :

8643517115. P

8643517116, 17 T

8643517117.

8643517118, 01

Question Number : 33 Question Id : 8643512373 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The absolute value of the electron gain enthalpy of halogens satisfies :
Options :

8643517119, F > Cl1>Br > 1
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8643517120, <17 F>Br>1

8643517121, 1> Br>F>1

8643517122, 1> Br>Cl>F

Question Number : 33 Question Id : 8643512373 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ZIACECTA Lo SIS G FOrg T+ (@ T (0 50
Options :
8643517119, T > Cl>Br>1

8643517120, 1 > F > Br>1

8643517121, C1>Br>F>1

8643517122, 1> Br>Cl1>F

Question Number : 34 Question Id : 8643512374 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The point of intersection and sudden increase in the slope, in the diagram given below,

respectively, indicates :

0
_lm (5
‘!Cu + 03.,—'} Q-Cuzﬂ
200
~, 2¥FeC,
5 qfe*o C+ 0, = CO,
P,
'f' D';J‘IGDQ 2c +
g _Em '1-':'0 E F;"]I'ﬂﬂ =i EED
% -600 ﬂp*ﬂa
9 700+ "
T -800 - L3N0
O. 7
900~ a38 7
o afz‘!ﬁﬂo
1000} i+ O
1100~
1200
: ! ' | 1 1 I | | I
o+C 400°C B00°C 1200°C 1600°C FO000°C
273K 673K 1073 K 1473K 1873 K 2273 K
—— Temperature
Options :
8643517123, AG < 0 and decomposition of the metal oxide
ACS > 5 .
8643517124 AG > 0 and decomposition of the metal oxide
AG =0 and melting or boiling point of the metal oxide
8643517125.
8643517126, AG=0 and reduction of the metal oxide

Question Number : 34 Question Id : 8643512374 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Teva fora ey @@ whoa 2] e IAEW oo F03 ¢

0
-100+—
ACu + ch “ ?.Cﬂgﬂ
-200— =
el
-00= .lge*ro"ﬁ Aﬂ,—* Co,

—— AG"/led mol™ of 0,

‘I‘1 1

g &

[

-
B

&

g

L o

800 1!‘3[’:"—‘90""
800~ ar3pt =
Aﬂmgo
1000— 35O
1100F
1200
| 1 | | 1 I \ | | |
o°C 400°C BOQ°C 1200°C 1600°C  2000°C
273K 673K 1078 K 1473 K 1873 K 2273 K
—— Temperature
Options :
AG < 0 €@2 4req 1 g
8643517123. o7 AT
8643517124, G >0 @2 Ared wEEed ArE
8643517125, AG=0 €2 4TGA ASZLGA FETTE AN "o
A= A UICER 7 faEmae
8643517126, AG=0 G2 4P THLTH o

Question Number : 35 Question Id : 8643512375 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The INCORRECT statement(s) about heavy water is (are)
(A) wused as a moderator in nuclear reactor

(B) obtained as a by-product in fertilizer industry

(C) wused for the study of reaction mechanism

(D) has a higher dielectric constant than water

Choose the correct answer from the options given below :
Options :
8643517127, (&) O

8643517128, (B) only

8643517129, (D) only

8643517130, (B) and (D) only

Question Number : 35 Question Id : 8643512375 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o T e g fagfe/fgfermg

(A) T sfare e e a9ge =
(B) T4 FEIEH TAETe “fel BAIE nem am
(C) TfEwm FaFm& Tere FIE w05

(D) Cea (503 ©F AAIApe FAFA I (A

TS AWE AEwE (ATF AfdE TEa a5
Options :

8643517127. L (©)

@
8643517128. ®)

&
8643517129, S04 (D)

8643517130. BRI
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Question Number : 36 Question Id : 8643512376 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct order of conductivity of ions in water is :
Options :

8643517131, €87 > Rb* >K¥ >Na*

a s+ b B
g64351713y. Nat >K* >Rb* > Cs

643517133, & > Na® >Cs™ >Rb

8643517134, Rb* >Na® > K* > Li"

Question Number : 36 Question Id : 8643512376 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Options :
8643517131, Cs* > Rb* >K* >Na*

Na* >K* >Rb* > st

8643517132.
b 7} b }

2643517133, K >Na® >Cs™ >Rb
t ot b .

8643517134, Rb" >Na® >K" >Li

Question Number : 37 Question Id : 8643512377 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following compound CANNOT act as a Lewis base ?
Options :

8643517135. 3

8643517136. S
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8643517137. A

S 4
8643517138,

Question Number : 37 Question Id : 8643512377 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TCHA T (T T TES A G FACS AE Al ?
Options :
CIF,
8643517135. :

PCI,
8643517136.

8643517137. i

S 4
8643517138,

Question Number : 38 Question Id : 8643512378 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is the spin-only magnetic moment value (BM) of a divalent metal ion with atomic
number 25, in it's aqueous solution ?

Options :

8643517139. 5.0

8643517140, 2-26

2
8643517141. %92

8643517142, 210

Question Number : 38 Question Id : 8643512378 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Ty gAce ARefEE A 25 ARG <l s arga wmrm 5o fida (Grae = I (BM) i 2
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Options :
8643517139, -0

8643517140, °-26

8643517141. 5.92

8643517142. s

Question Number : 39 Question Id : 8643512379 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ :  Potassium permanganate on heating at 573 K forms potassium manganate.

Statement Il : Both potassium permanganate and potassium manganate are tetrahedral
and paramagnetic in nature.

In the light of the above statements, choose the most appropriate answer from the options

given below :

Options :

3643517143, PBoth statement I and statement 1l are false

643517144. Both statement | and statement Il are true

8643517145. Statement 1 is true but statement 11 is false

8643517146 Statement 1 is false but statement 11 is true

Question Number : 39 Question Id : 8643512379 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
s gt 73 orea = -

fegfe 1: 573 KOHiam Tae Fare BRI ARaes (A0 w50 Wb (o 24|
fagfe 11 : G *aweBrTas @2 #GIEm b Toras A e SoEaa W “ApTad |
ToE ARFooTeea SES, S awe AewaE (ArF wArerE adie TEEt e F4

Options :
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3643517143, (9@ 1 «e fagfo 1 Tormz o=

8643517144. T9fe 1 @32 fagfs 11 Teraz s

s643517145, 3@ 171 3 fagfe 11 g

s643517146, I 1571 R gt 310w

Question Number : 40 Question Id : 8643512380 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Reducing smog is a mixture of :
Options :

s643517147. Smoke, fog and O,

9643517148, Smoke, fog and SDE

Smoke, fog and NvCH
8643517149. £

Smoke, fog and C I-I2=C H - CHO
8643517150.

Question Number : 40 Question Id : 8643512380 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
remaes@ cdmamma fra ==
Options :

G, T @32 O
8643517147. 3

camn, FEHT @3qg SO
8643517148. 2

T, FAH @32 N,O
8643517149, s

cdr, g «q2 CH,=CH —~ CHO
8643517150.
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Question Number : 41 Question Id : 8643512381 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :  Retardation factor (R;) can be measured in meter/centimeter.
Statement I : R, value of a compound remains constant in all solvents.
Choose the most appropriate answer from the options given below :

Options :

643517151, Both statement | and statement 1l are true

Both statement I and statement 11 are false
8643517152.

8643517153. Statement [ is true but statement 11 is false

2643517154 Statement 1 is false but statement 11 is true

Question Number : 41 Question Id : 8643512381 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

s vt fagfe orea wrae -

ffe1: v aa@ (R, 6w/ GFORGR «fm <@ aw)
frfe 11: T @t @=fh (Fesa R, T #9940 |

Tewa “frvafe (ArE w4irers qeef TEalh E@m 599

Options :
=t 1 @92 =9fS 11 Torae Aw
8643517151. ' '

s643517150, [3re 1 @3 ffe 11 Tem g

s643517153. 1are 1712 3 fagfe 11 o=

s643517154. 9T 1971 o fargfs 11 w2
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Question Number : 42 Question Id : 8643512382 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following is an aromatic compound ?

Options :

8643517155.

8643517156. :>@

8643517157.

8643517158.

Question Number : 42 Question Id : 8643512382 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Tesa TG @S SICAaTAnE Gl ?

Options :

8643517155.
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8643517156.

8643517157.

8643517158.

Question Number : 43 Question Id : 8643512383 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HI5r

I P

(Major Product)

Product “A” in the above chemical reaction is :

Options :
Br
CH,
8643517159. :
br CH,
8643517160. CH;
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CH,
8643517161. 3
Br
CH;
8643517162. CH;

Question Number : 43 Question Id : 8643512383 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HEBr s
CCly (zierrer Gerrzraay)

Teirag amafe fAfaam Seemmar “A” =4 ;
Options :
Br
CH,
8643517159.
r -
CH,
"H
8643517160. i
Br
CH,
8643517161. H;
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CH,

CHj,
8643517162.

Question Number : 44 Question Id : 8643512384 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1 O"Na™

+ NaOH

Y

The above reaction requires which of the following reaction conditions ?
Options :

2

8643517163. 623 K, Cu, 300 atm

8643517164, °/° K Cu, 300 atm

” |
8643517165, 023 K, 300 atm

8643517166, 22 K 300 atm

Question Number : 44 Question Id : 8643512384 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Cl 0" Na™

+ MaOH >

Options :

8643517163, 023 K, Cu, 300 atm

8643517164, 973 K, Cu, 300 atm
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3643517165, 623 K, 300 atm

2643517166, 272 K 300 atm

Question Number : 45 Question Id : 8643512385 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Mesityl oxide is a common name of :
Options :
AN y . iy B
2643517167, FMethyl pent-3-en-2-one

AT ; .
2643517168, 24 Dimethyl pentan-3-one

'j" | r T "
8643517169, < Methyl cyclohexanone

q— J ¥ ¥ ’ : - :
2643517170, Methyl cyclohexane carbaldehyde

Question Number : 45 Question Id : 8643512385 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@ (TS T 7 (APHIZA THDS
Options :

8643517167. ATRYEF (75-3-37-2- ST

2,4-TI3fREA (FHTH-3-93
8643517168, 2+ DA C 3-67+

8643517169, 2- 19127 LLRZHCA

643517170 b6 GG AR

Question Number : 46 Question Id : 8643512386 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Hoffmann bromomide degradation of benzamide gives product A, which upon heating with
CHCI; and NaOH gives product B.

The structures of A and B are :

Options :
O 0
? _NH, ?T :r»«:l{2
A — B — CHO
8643517171. Br Br
NH, NC
& -4
8643517172.
NH, NH,
8643517173 Br Br
NH, NH,
B . CHO
8643517174

Question Number : 46 Question Id : 8643512386 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(AYETTA TFA ETTAZE Saw+ i@ A Tesim Fa 91 CHCL, @a2 NaOH @a 3% 9% F203

Bers w4 B (7|

A @32 B @ 515+ qATHCH :
Options :
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O O
NH, NH,
CHO
A - B —

8643517171, Br Br
NH, NC
NelNe
8643517172.
NH, NH,
8643517173. Br Br
NH, NH,

i i) B — ij/CI O
8643517174.

Question Number : 47 Question Id : 8643512387 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
O O

Eth}rlene GI}?C ol R

E]CE H5 A

HY (Major Product)

The prnduct “A" in the above reaction is :

Options :
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OH

P

O O

OCoHs

O
OH

O

8643517175.

8643517176.

4

/ OCoHsg

OH

8643517177.

Q
DM
UCEI I5

8643517178.

Question Number : 47 Question Id : 8643512387 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

O O
R A%
OC,Hz 2 I{ > A
H (sigreT Beimgar)
Tead A oy “A” TermEATh o
Options :
O @)

P
OCsoH5

8643517175.
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8643517176.

’;ff,—(]{:2115

OH

8643517177.

O
D><UJ\
OCsH5

8643517178.

Question Number : 48 Question Id : 8643512388 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the fnllowing reaction is an c-xamplc- of ammmml}fsis ?

Options :

O 3 :
8643517179. & 3 B 2 6

CH.CH.CN __Hl . c H.CH.CH.NH
8643517180. ¢ 22 B ol e o e

CHsCH,Cl+NH; — > C,
8643517181. 2 :

CH.NH,_HQ  C

3

8643517182. Hs NH5Cl

Question Number : 48 Question Id : 8643512388 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Options :
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2643517179, CH-COCI+C,HNH, — 5 C.HCONHC H.

C.H.CH,CN _MHI . C H.CH,CH,NH
8643517180, & 2 27 T 7 Y6 5T 2=2

C.H-CH,Cl+ NH C.H.CHNH
8643517181, ¢ ° 2 is—— e et HEL

8643517182, CgHsNH, HA , CH;NH,Cl

Question Number : 49 Question Id : 8643512389 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

With respect to drug-enzyme interaction, identify the wrong statement.
Options :

8643517183, Competitive inhibitor binds to the enzyme’s active site

8643517184. Allosteric inhibitor changes the enzyme’s active site

643517185, Allosteric inhibitor competes with the enzyme’s active site

R643517186. Non-Competitive inhibitor binds to the allosteric site

Question Number : 49 Question Id : 8643512389 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
SFY-Terve AE faara v fagfefs fbioe =

Options :

$643517183. AT foca14s Teomrea ey GoeE HIE 2

8643517184.

so435171gs, T R Seoomrea e werer 7o e w

ST foras SEes (499 = eE AYS =
8643517186.
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Question Number : 50 Question Id : 8643512390 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the fnllnwing is correct structure of tyrosine ?

Options :
COOH
H,N %,oﬁ
8643517187.
COOH
HAN 5
OH
8643517188.
COOH
H,N H
OH
8643517189.
COOH
H>N H
OH
8643517190.

Question Number : 50 Question Id : 8643512390 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Options :
54/89
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8643517187.

COOH
H,N H
OH
8643517188.
COOH
HsN H
OH
8643517189.
COOH
H,;N H
OH
8643517190.
Chemistry Section B
Section Id : 864351160
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351160
Question Shuffling Allowed : Yes
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Question Number : 51 Question Id : 8643512391 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The mole fraction of a solute in a 100 molal aqueous solution is %1072
(Round off to the Nearest Integer).
[Given : Atomic masses : H: 1.0 u, O : 16.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 51 Question Id : 8643512391 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

100 GIES A Ha0e «Fis Widd e oo %10~2
(fereem #efe2m)
[CREA WITE @ #ANeEE 59 : H : 1.0u, O : 16.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643512392 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The pressure exerted b}-’ a non-reactive gaseous mixture of 6.4 g of methane and 8.8 g of

carbon dioxide in a 10 L vessel at 27°C is ~ kPa.

(Round off to the Nearest Integer).

[Assume gases are ideal, R=8.314 ] mol 1 -1

Atomic masses : C: 120u, H: 10 u, O: 16.0 u]
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Question Number : 52 Question Id : 8643512392 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

27°C SIPMAIE 10 L ATCE 6.4 g filtem @32 8.8 g F9 wEwaEizres «fs faf@msm s e 39

(fereem =pefore=m)
[4za 18 sTHafE o, R=8.314  mol "1 K~!
AT %4 : C: 120 u, H: 1.0 u, O: 16.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643512393 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A certain orbital has n=4 and m; = 3. The number of radial nodes in this orbital is

. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643512393 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

g3l 8 FHF n=4 @A m, = — 3; G FHS GAW CICCA LA ___ (e #jefeam)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :
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100

Question Number : 54 Question Id : 8643512394 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
The standard enthalpies of formation of Al,O, and CaO are — 1675 k] mol I and
635 k] mol ! respectively.
For the reaction
3Ca0 + 2A1 — 3Ca + Al,O; the standard reaction enthalpy _‘trHﬂ = kJ.
(Round off to the Nearest Integer).
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 54 Question Id : 8643512394 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ALQ, «@2 CaO -<7 =19 512+ e+ W JA@T — 1675 k] mol ~ 1 €2 —635 kJ mol !
3Ca0 +2Al — 3Ca + AL, fafeam eme i aaamsia, A HC «a = kJ
(ferelem #jef72m)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643512395 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The oxygen dissolved in water exerts a partial pressure of 20 kPa in the vapour above water.
The molar solubility of oxygen in water is % 107> mol dm 2,

(Round off to the Nearest Integer).

[Given: Henry's law constant = Ki; =8.0 x10* kPa for O,,.

Density of water with dissolved oxygen = 1.0 kg dm 7]

Response Type : Numeric
Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 55 Question Id : 8643512395 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
GTE WA G GE #JTP THTAd AT 20 kPa WIS 517 (71 | ST SHETa (e wEae

%10~ mol dm 3

(frrsem =jefeam)
[(CREA ©TCR, SETE (ZEd & &9% = K,y =8.0 x 10* kPa.
BATS AHE 72 GCod Tg = 1.0 kg dm 3]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643512396 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
0.01 moles of a weak acid HA (K, =2.0 x107°) is dissolved in 1.0 L of 0.1 M HCI solution.
The degree of dissociationof HAis %10 5 (Round off to the Nearest Integer).
[Neglect volume change on adding HA.
Assume degree of dissociation <<1]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 56 Question Id : 8643512396 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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1 3T 0.1 M HCl %3t 0.01 T @36 53 w0 HA (K, =2.0x 10~ 6) @age 341 27
HA -«q s S %105 (F@bea #jefem)

[HA @5 98 T3 SRSA “@ade SCer® F41 40a e, [ @ <<1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643512397 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

15 mL of aqueous solution of Fe?" in acidic medium completely reacted with 20 mL of

0.03 M aqueous Crzf_}%_. The molarity of the Fe?t solution is %1072 M. (Round

off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643512397 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1T MU Fe? * @@ 15 mL &A1 7261 20 mL 0.03 M &5 Cr,OF T34 & 2/#1fe %41 21 | Fe?*

HAE (AR S5F x10"2 M. (Frebea =j<tAeam)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643512398 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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For a certain first order reaction 32% of the reactant is left after 570 s. The rate constant of
this reaction is %1073 s~ 1. (Round off to the Nearest Integer).
[Given : log;;2=0.301, In10=2.303]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643512398 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

9= A9 =9 fafE T 570 s #a fAoacea 32% @@ aws | fafeaiba afeza =12
%1073 s~ 1| (ferelem #jee=m)
[crsa =R : log,,2=0.301, In10 =2.303]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643512399 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The reaction of white phosphorus on boiling with alkali in inert atmosphere resulted in the
formation of product “A’. The reaction of 1 mol of A" with excess of AgNO, in aqueous
medium gives mol(s) of Ag. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643512399 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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i INSTE AW FFAE ACH WICAG (FHILAE TN AfEmT Tesm v A e | HAl

-

TTA 1 mol #fae ‘A’ wfefae® AgNO, @7 ez e = Ag tefa 331 (b
24T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643512400 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

NO,

HNO,
H,50,

-

In the above reaction, 3.9 g of benzene on nitration gives 4.92 g of nitrobenzene. The
percentage yield of nitrobenzene in the above reaction is __ _%. (Round off to the
Nearest Integer).

(Given atomic mass: C:12.0u, H: 1.0y, O:16.0 u, N : 14.0 u)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643512400 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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NO,
HNO,
H,S0,

o AT 3.9 g @Gt TR A 4.92 g TEHGAGS New I7 FiEhre MEga
% (frbea of7eam)
{ﬁﬁﬂ"ﬂﬂﬁ:wqﬁﬁ?ﬂ':C:IE.Uu,Hzl.Du,O:16.UurN:1-—1.lf]u]

BeAWE Toedl qTAl

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Mathematics Section A
Section Id : 864351161
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351161
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 8643512401 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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In a school, there are three types of games to be played. Some of the students play two types

of games, but none play all the three games. Which Venn diagrams can justify the above
statement ?

P Q R
Options :
8643517201, L and Q

8643517202, L and R

8643517203, 2 and R

8643517204, None of these

Question Number : 61 Question Id : 8643512401 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

W0 Fra 57 #3077 c¥em =3 | oy g wia 43 49073 o3eT (3e70e <, 8 o wra fisafo
CYETE FAIF0 (TS T q1 | TET (FF (SAATs 4@ STele dfowieas Fd 7

W

Options :

8643517201. PaxR Q

8643517202, I W R
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8643517203, @ 9 R

8643517204, O T (FHTC T

Question Number : 62 Question Id : 8643512402 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The area of the triangle with vertices A(z), B(iz) and C(z +iz) is :

Options :

1
8643517205, 2

8643517206.

| =

8643517207.

(=1

8643517208.

Question Number : 62 Question Id : 8643512402 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A(z), B(iz), 933 C(z +iz) Fmyafet (uf fagrem TRy e osawa 51 ¢

Options :

% |

E z {22
8643517205.

o

'} o
8643517206, 2

|

5
8643517207.
8643517208, 1
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Question Number : 63 Question Id : 8643512403 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. (0 Sinao ' o ) 2
L Sl and det | A — —I | =0, then a possible value of « is :
| S1na 0) | v
Options :
il
8643517209, *
s
3
8643517210.
L
8643517211. ©
b3
=
8643517212. ~

Question Number : 63 Question Id : 8643512403 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

; (0 sinee ' oo g
q A= . e det | AT — =1 | =0, 2T, R o 9F I TH TS :
| Sin 0) ! 2
Options :
m
4
8643517209.
.".r
3
8643517210.
.'.r
6
8643517211.
i
2
8643517212.

Question Number : 64 Question Id : 8643512404 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The system of equations kx +y+z=1,x+ky+z=k and x+y zk =k* has no solution if k is
equal to :
Options :

8643517213. 0

8643517214, 1

8643517215, L

8643517216.

Question Number : 64 Question Id : 8643512404 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TiFae f5afa ke +y+z=1, x+ky +z=k @3¢ x+y +zk=k2 (IF AT e 1, T k @q
Hiq &4 -
Options :

8643517213, ©

8643517214,

8643517215, 1

8643517216.

Question Number : 65 Question Id : 8643512405 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Team ‘A’ consists of 7 boys and n girls and Team ‘B’ has 4 boys and 6 girls. If a total of 52
single matches can be arranged between these two teams when a boy plays against a boy
and a girl plays against a girl, then n is equal to :

Options :
2
8643517217. =
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8643517218. :

8643517219. 5

8643517220. 2

Question Number : 65 Question Id : 8643512405 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘A oo 7 6 91676 @32 n FeUvs Fferat onicg | B fOow 4 5 9161 was 6 0 aifersr sneg) 99 A
fGora w6 a1e7s B Borg sl It ANy cd=cs g a3 A Borg st atfqs B Bora
OFD FTAFE ST CA=T0s 1T | I A 8 B TOog sy a3y 52 6 s/ o=t 50e <Iia, erae
n ¥F IH &4 :

Options :

8643517217. 2

8643517218. :

8643517219. 3

8643517220. o

Question Number : 66 Question Id : 8643512406 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the fourth term in the expansion of (x 21082 %7 is 4480, then the value of x where x € N is

equal to:
Options :

8643517221.
8643517222.
8643517223.

8643517224.

68/89



3/17/2021

Question Number : 66 Question Id : 8643512406 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
49 x e N1 afit (x + 21982 %) 7if1foa Rgfs B3 spf *m 53 4480, S0 x @3 W9 21 :
Options :

8643517221.

I3

8643517222.
8643517223.

8643517224.

Question Number : 67 Question Id : 8643512407 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1
The value of 4 4 ] is :
5 4 q
4 4 :
54
44 ... *

Options :

: 3

. Ry )]
8643517225, 5

2+ 2 /30
8643517226. v

5+ 230
8643517227. 2

. o

4 4 -ﬁgﬂjmn
8643517228, v

Question Number : 67 Question Id : 8643512407 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

4 4 ERICEGE
1
5 4 :
4 4 :
5 4
4+ ... e
Options :
' y,
24 .0
8643517225.
Py %Jﬁ
8643517226. 5
' 2
5+ =30
8643517227. >
. B
4 + —+/30
8643517228, V5

Question Number : 68 Question Id : 8643512408 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If cot~1(a)=cot= 12+ cot~18 +cot 118 + cot~ 132+ ..... upto 100 terms, then « is :
Options :

8643517229, 1-00

8643517230, 1-01

8643517231, 1-02

8643517232, 1-03

Question Number : 68 Question Id : 8643512408 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
714 cot () =cot =12+ cot= 18+ cot =118 + cot ~ 132 +.....100 B *% *1H& 3¥ SHIA a 9T TF
B -
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Options :

8643517229. =N

8643517230, 101

2
8643517231. 1.02

8643517232, 1-03

Question Number : 69 Question Id : 8643512409 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The inverse of Y= 51087 jg -

Options :
1
o 5]::;_{3._;
8643517233.
1 _
e 'lf]UES
8643517234. :
= logy
8643517235,
X :y]oES
8643517236.

Question Number : 69 Question Id : 8643512409 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
y=58" «ug F+Fs SCrFEes 5=

Options :
1
x= 5][’53Jr
8643517233.
1
=1 00
8643517234.
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x = 5logy
8643517235.

o logs
8643517236, Y=Y '8

Question Number : 70 Question Id : 8643512410 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

lim €O (x = x]?) - sin™!(x — [x]?)
+
x—l x — x3

The wvalue of , where [x] denotes the greatest

integer =x 1s8:

Options :
am
4
8643517237.
8643517238, U
.‘TI'
?
8643517239, <
8643517240,

Question Number : 70 Question Id : 8643512410 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

L cos (x [x_]zl' sin 1 (x [I]z]

19 [x] 29 JRSH TG TP = x| OREA ll_if;lr o AT HI4
50
Options :
w
8643517237 *

0
8643517238.

ml'—l.

8643517239.
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.

8643517240.

Question Number : 71 Question Id : 8643512411 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following statements is incorrect for the function g(«) for « € R such that

_ 3 sin®x i
B(e) = }-{ cos®x + sin®x
Options :
3643517241 g(w) is a strictly increasing function

8643517242 g(w) is a strictly decreasing function

1
g(c) has an inflection point at « = 2
8643517243.

g(w) is an even function
8643517244.

Question Number : 71 Question Id : 8643512411 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

sin®x

dx, a e R | AIt69 @ Si&H A% 71 ¢

cos™x + sin“x

x
7 g(a) = |
:

Options :

8643517241, B(e) UFC AFME SIS SrorES

(o) AFG AFME S ETE SCrFS
8643517242, S A

' 1
a=-— T g() a7 @FT FeiEa &y
8643517243, 2
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Question Number : 72 Question Id : 8643512412 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is true for y(x) that satisfies the differential equation

d
ﬁ =xy—1+x—y;y(0)=0:
Options :
' = |
¥h=e 2 ~1
8643517245.
1
y(1) =e2 — 1
8643517246. vy
1 . |
wl)=e? —e 2
8643517247. yd)

8643517248, YD =1

Question Number : 72 Question Id : 8643512412 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Tfi y(x) farsa sea Afsaafis B @

.dy o
— =11 1+x—y;y()y=0
= =Y y: y(0)
e fAafalys Teaafrs @@=t 1 ¢
Options :
~1

Lk Bl |
8643517245.

: } 9

(1) = el 1
8643517246. w

' 11

y{l)—e? —e 2
8643517247.

wly=1
8643517248. y(D)

74/89



3/17/2021

Question Number : 73 Question Id : 8643512413 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In a triangle POR, the co-ordinates of the points P and Q are ( — 2, 4) and (4, — 2) respectively.
If the equation of the perpendicular bisector of PR is 2x —y+2=0, then the centre of the
circumcircle of the APOR is :

Options :

8643517249, (1 4)

8643517250, (0- 2)

(=1, 0)
8643517251.

(2, —2)
8643517252,

Question Number : 73 Question Id : 8643512413 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

49 APQR fagwifa P @ Q Mfry w2 wmE o (-2, 4) Wae (4, —2)1 7fi PR g ="
ANTGAS T AMNPBAT 2v —y+2=0 T, S APQR aF AR{red @y 14 :

Options :
8643517249, (1 4

(0, 2)
8643517250,

8643517251. (

2
8643517252. §=5

Question Number : 74 Question Id : 8643512414 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The line 2x —y+1=0 is a tangent to the circle at the point (2, 5) and the centre of the circle

lies on x—2y=4. Then, the radius of the circle is :
Options :
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53

8643517253.

8643517254, V4

8643517255, 45

345

8643517256.

Question Number : 74 Question Id : 8643512414 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

437 (2, 5) e @I qrea rftea Iiead = 20—y + 1=0 | I @ Jre7 @ulg x - 2y=4
HIAEAE @9 TS 57 e 380 Iypel 54 ¢

Options :

8643517253, V3

_

8643517254.

o

8643517255.

8643517256. 35

Question Number : 75 Question Id : 8643512415 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Choose the incorrect statement about the two circles whose equations are given below :
x2 4 yz 10x — 10y +41=0 and

x2 4 yz 16x— 10y + 80=0

Options :

8643517257 Circles have two intersection points.

2643517258, Both circles pass ﬂ‘urough the centre of each other.

643517259, Both circles” centres lie inside region of one another.
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Distance between two centres is the average of radii of both the circles.
8643517260.

Question Number : 75 Question Id : 8643512415 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

22+ y2—-10x— 10y +41=0 @3¢ x2+y?>— 16x — 10y + 80 =0
@I S A6 (@ [Rel Afve a3 ¢

Options :

8643517257, 193 1AM fer Rrqes o 319

8643517255, SPUA (FURTY S ST T AR

3643517250, TR0 TSR (P S 08T TRSH 3D Ay

8643517260, ISR TG IEALS FRITT o1

Question Number : 76 Question Id : 8643512416 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The equation of the plane which contains the y-axis and passes through the point (1, 2, 3)
18 :

Options :

8643517261, OX T 2=6

8643517262, X +3z=10

8643517263, *13z2=0

Il
=

8643517264, X 2

Question Number : 76 Question Id : 8643512416 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(1,2, 3) fgsnilt a1 SIweeABa 8o y-or% S[afls SR SEad 5= .
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Options :

8643517261, X 1z=6

x+3
8643517262.

8643517263.

8643517264, 2% ~2=0

Question Number : 77 Question Id : 8643512417 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If the Boolean expression (p = q) < (q = (~p)) is a tautology, then the Boolean expression
p * (~q) is equivalent to :

Options :
8643517265. ¥ 1

| 2t
8643517266. 2 .

8643517267. 17 F

8643517268, 1P

Question Number : 77 Question Id : 8643512417 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

7 (p = q) = (q * (~p) 930 Goranfe 23 srara Aea @FET p o+ (~q) IFEE AFfFa
HTpets 7

Options :

8643517265. Al

8643517266. £ 4

8643517267. 17 P
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8643517268, 1 F

Question Number : 78 Question Id : 8643512418 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let a =2i —3j +4kand b =7i + j — 6k.

— i o A —

Xb, r 1; F27 + k) = 3, then r [2; '5; | E}Jisequalm:

— — ——
I

If r xa=
Options :

8643517269.
8643517270.

8643517271. =~

8643517272, 19

Question Number : 78 Question Id : 8643512418 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

—

99 a =2i ~3j +4k 9€IL b =7i + j - 6k fi

—3 — — —3
rxa=r1xDhb Il 3

r-|i +2j +k)=-3 WA 1 -(2i -3 4 ARCER R
Options :

8643517269. 8

8643517270.

12
8643517271.

8643517272, 12

Question Number : 79 Question Id : 8643512419 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

Two dices are rolled. If both dices have six faces numbered 1, 2, 3, 5, 7 and 11, then the
probability that the sum of the numbers on the top faces is less than or equal to 8 is :

Options :

8643517273.

s

8643517274.

g5

8643517275.
1
8643517276, 2

Question Number : 79 Question Id : 8643512419 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

q2f0 oo v s s ciedt 21 | afn qf0 wmwe® wafs g4 1, 2, 3, 5, 7 @3e 11 7y w141 BfEs
ANF, SrECE TF@gfU ST (ReTF </ To F@ S SECHE (TIsFa 8 O3 (6T &0 ST 5T
ST WA 54 ¢

Options :

ot
]

8643517273.

e

8643517274.

2|5

8643517275.

er-a'

8643517276.

Question Number : 80 Question Id : 8643512420 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

o p
: | = tan llf—lj is :

f
The sum of possible values of x for tan l(x +1) + cot ll 5
X J

Options :

8643517277. 4

8643517278. 4

8643517279.

8643517280. 4

Question Number : 80 Question Id : 8643512420 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

.-’ 1 " '} 3 h :
tan 1(1’ + 1) + cot 1| - | = tan 1| "1_l| ANFIIBACE ¥ 9T T8 WS sk %4 ¢
\X J \ ol
Options :
33
4
8643517277.
32
4
8643517278.
31
4
8643517279.
30
4
8643517280.

Mathematics Section B
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Section Id : 864351162
Section Number : 6

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351162
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 8643512421 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The maximum value of z in the following equation z=6xy L.rzr where 3x+4y = 100 and
4x+3y = 7D forx 2 0andy = 0is ___

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 81 Question Id : 8643512421 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

9 3x+4y = 100, 4x+3y = 75, x =2 0 Q32 y = 0 SEA z=6xy + yz G A 19 59
|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643512422 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

-

> 4 : ,.
If A= [” 1] , then the value of det(A*) + det( A7~ (Adj(2A) ]m} is equal to _

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 82 Question Id : 8643512422 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

afi A= F

oy | O dey(A?) + det(A (Adj(2A))"° ) @a w7

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643512423 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If (2021)%62 is divided by 17, then the remainder is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643512423 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AW (2021)3762 (& 17 9T G F1 5, GE GISI0E AfFE
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100
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Question Number : 84 Question Id : 8643512424 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

cos(sinx) — cosx

xﬂ.-

If the function f(x)= is continuous at each point in its domain and

f(0)= L, thenkis
k

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643512424 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

afic f(x) = C"‘S(-‘”Mi COT wicorwasfl Txra wewry siwrera Afs frqres see 0 aae
X

f(0)= % ©rEE k OF IF 231

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643512425 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If [ - ] represents the greatest integer function, then the value of

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Question Number : 85 Question Id : 8643512425 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

afi [ -] JEH IS JCPFS T ORE
| =
NEe
_[ [[x“] cosx1 dx| HHTH
- )
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 86 Question Id : 8643512426 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The minimum distance between any two points P, and P, while considering point P, on one

circle and point I’; on the other circle for the given circles’ equations
x2+y2-10x—- 10y +41=0
x2+y?—24x 10y + 160=0 is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643512426 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

49 Py @38 Py AW 22+ 17— 10x— 10y +41=0 @32 22+~ 24x— 10y + 160 =0 J(IF 89F
Srafe q3f0 AR g W SR P, e P, a Ay qrg g . |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
85/89
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Possible Answers :

100

Question Number : 87 Question Id : 8643512427 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the equation of the plane passing through the line of intersection of the planes
2x—7y+4z—-3=0, 3x—5y+4z+11=0 and the point (-2, 1, 3) is ax + by+cz—7=0, then
the value of 2Za+b+c—7 is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643512427 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Tfii (-2, 1, 3) sl 1% swe=TG TEE @99 2x Ty +4z-3=0 8 3x -5y +4z+11=0
A werad (Ffe AT S[afes ©RE TFET 57 ax+by +cz—7=0 S 2a+btc—7
ST 6T s CRS, |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 88 Question Id : 8643512428 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
Let there be three independent events E » E2 and E3. The probability that only E | Occurs is a,
only E, occurs is 3 and only E; occurs is v. Let “p” denote the probability of none of events
occurs that satisfies the equations (a—2B)p=aff and (p —3y)p=2py. All the given
probabilities are assumed to lie in the interval (0, 1).

Pr obability of occurrence of E;

Then, is equal to

Probability of occurrence of Eq
Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 88 Question Id : 8643512428 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

44 E,, E, 8 E, f5af a8 o041 argona affard st 991@ ™ o, B 8 y | 99 Ey, E, @ E; 9 (@142
Frafoara et ‘p’ W3 WIF T06d Alwad g3 50 B sw

(a—2B)p=af 932 (B—3y)p=2Py

19 O% HFOre 8 IOEE FEEF1 (0, 1) SISIICE SIS | Graget

B, SR s
E, 9fGa1d st

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643512429 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

: 1-2%))
1f X)) = SU\{CGS 1{—_
/) ‘_ B

\._ 27

b

and its first derivative with respect to x is —lngE 2 when

5 . = i Py =
x=1, where a and b are integers, then the minimum value of |a~—b“| is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643512429 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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- Ry
221

g9 x=149 f(x)= sin{cns_l(l

?| T 4UY FET HAIP A 1 E]nge 2, (YA
1 + ) a

!

. J
a3bn3 3@;51‘35:%| B1EE | a2 — b2| 99 J4- Y 79 59

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643512430 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

It a =|:x.!'. [ [:"z.r [ H.Ik.r

b = [ﬁ.i" L‘.'{._;I; ﬂ and

—_

such that a - b =1 and I: -

: — -3, then %[{: o El . ;| is equal to
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643512430 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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A A

—* / M
i a =ai +Bj + 3k,

— A A A
b =—-pi o k 4a9%

— A A A

c=i-2j-k

-—} —_— O.—} e 1 ._} il _}.
TAAEE a-b=193 p - ¢ = 3{?15?5?'5:1?@6‘@515([& Xb}dcjmrra_

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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